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Mohit.. 8 hours ago

Thank-you madam for today's Amazing Class Session.. . , =
And

My Answer for today's Homework is like-

ILQOJPMRKN (in clockwise direction)...

Read more b 1 &GP REPLY

ruma rajwar 7 hours ago

Homework ans:
INKRMPJOQL (CLOCKWISE)

@5 5P  REPLY

debasish chakraborty & hours ago

Homework : QOJPMRKNIL
THANK YOU MAM. AWESOME SESSION.

@b &P  REPLY

Mampi Paul 8 hours ago (edited)
Homework question : Q-0-J-N-M-R-K-L-I-P

b GP  REPLY
Rahul Bhakat 4 hours ago (edited)

shubhangi mishra 1 hour ago .
RMPJOQLINK (Clockwise)

H.wans.
RMPJOQLINK ( CLOCKWISE)
thank you maam

5y GP  REPLY

Thank you maam!

@ &P  REPLY

MNabanita De 5 hours ago
H.W-QOJPMRKNIL.thank you ma'am.

5y GP  REPLY
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Ten people-1,J,K,L, M, N,O,P, Qand R
are sitting around the circular table and
facing towards the table but not
necessarily in the same order. | faces the
one who sits third to the right of Q. J sits
fourth to the left of K. Neither | nor Q sits
adjacent to both J and K. Only two
persons sit between J and R who sits
second to the left of N. As many persons
sit between N and J is the same as
between | and P. The one who sits second
from P is sits second to the right of L. M
sits third to the right of O.
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sits fourth to the right of M. a) Lb) K c) Q d)
| e) None of these

Who sits third to the left of the person who faces
O? a) Person sits second to the right of Q b)
Person sits third to the left of L c) Person sits
fourth to the right of P d) Person sits second to
the left of R e) None of these

Four of the following five are alike in a certain
way and hence from the group. Which is the one
that does not belong to the group?

a)LJb) MN c) 10 d) PK e) RO
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Which of the following statement is/are true?
I. N faces the one who sits just left of P

Il. Q sits exactly between Kand M

lll. Only three persons sit between R and Q

a) Only 1 b) Only lll c) Both I and 11 d) All I, Il and
lll e) None of these

In which of the following statement the third
person faces the one who sits exactly between
the first and the second person in the following
arrangement? I.RLJ Il. MIK Ill. RQP a) Only | b)
Only Il c) Only I and 1l d) All I, Il and 1ll e) None of
these
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Six persons- |, J, K, L, M, and N are sitting on the
circular table facing the center. They are using
different types of bags- Birkin, Kelly, Clutch,
Saddle, Duffel, and Hobo but not necessarily in
the same order. L sits second to the left of the
one who uses Hobo bags. The one who uses
Hobo bags and the one who uses Clutch bags are
immediate neighbors. J sits opposite to the one
who sits immediate right of I. J neither uses
Hobo nor Clutch. The one who uses Birkin sits
second to the left of I. The one who uses Saddle
sits immediate left of the one who uses Duffel. L
neither uses Duffel nor Kelly. Either J or M uses
Kelly. N does not use Clutch.
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one who uses Hobo bags. The one who uses
Hobo bags and the one who uses Clutch bags are
immediate neighbors. J sits opposite to the one
who sits immediate right of I. J neither uses
Hobo nor Clutch. The one who uses Birkin sits
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L K
Saddle Clutch

N
I

Duffel

Who among of the following person sits
immediate right of I? A. The one who uses Birkin
B. The one who sits second right of K C. The one
who sits immediate left of L D. The one who uses
Hobo E. K

Which of the following bag does K use? A. Clutch
B. Hobo C. Duffel D. Kelly E. Saddle

Which of the following combination is true? A.
N- Clutch B. K- Kelly C. J- Birkin D. M- Saddle E. I-
Hobo
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Birkin j

L
Saddle

Clutch

Which of the following statement is true? I) M
sits second to the left of the one who uses
Saddle Il) K sits immediate right of 1 lll) | uses
Duffel A. Only Il B. Only I and 11l C. Only IlI D. All
I, Il, and Ill E. None of these

Who among the following person uses Hobo
bag?

A. The one who sits immediate left of L

B. The one who sits second to the right of M
C.K

D. The one who sits third to the right of |
E.N
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Seven persons A, B, C, D, E, F and G are sitting
in a straight row and facing north direction but
not necessarily in the same order. Distance
between two adjacent persons is 4m. G sits 8m
towards the left of A. G does not sit on the
extreme end of the row. E sits towards the
right of A. Distance between G and E is at most
16m. Only two persons sit between F and C. B
sits 4m towards the right of F. Distance
between B and D is not 8m. C does not sit
towards the left of D.
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What is the distance between E and D? a) 16m b)
4m c) 8m d) 20m e) 12m

Final arrangement:
D G C How many persons sit towards the right of the

one who sits 4m to the left of F? a) Two b) One c)
Three d) Four e) Five

What is the position of A with respect to C? a)
8m to the left b) 3rd to the right c) 4m to the
right d) 2nd to the left e) 12m to the left
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Final arrangement:

D

G

C

Four of the following five are alike in a certain
way as per the given arrangement and thus form
a group. Which of the following one does not
belong to that group? a) DC b) AF c) EB d) GE e)
AG

How many persons sit between G and B? a) One
b) As many persons sit between D and F ¢) Two
d) Three e) As many persons sit to the right of G
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316 fa - E,F,G H,LJ K Gﬁ?’ LUD Eight persons—E, F, G, H,1,J, Kand L are
3%%1&@?%@ 3R standing in a linear row facing the north
@WE@; G| Wqﬁ direction but not necessarily in the same
Wﬁiﬁl , ) %aﬁﬁ?ﬂ#{ww order. H stands third to the right of J. At

E,Pf least two persons stand to the left of J.

, . HAfFIdl  The number of persons standing to the
DI HSITF a?iﬂ'sc Gﬁ?@%mﬁ right of H is one more than the number of
| ; : % persons standing to the left of F. G stands

H. F Gﬁ?’ H & o forad aafad 6 Gﬁ? ED  tothe right of H. As many persons stand
E@J ' K, L%aﬁﬁgﬂ%ww between F and H as between G and E. K
ET.‘}T%I I GﬁT Kﬁmﬂq@'\‘ﬂqﬁél stands second to the right of L. | and K are

not immediate neighbours
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Eight persons—E, F, G, H, |,J, Kand L are
standing in a linear row facing the north
direction but not necessarily in the same
order. H stands third to the right of J. At
least two persons stand to the left of J. The
number of persons standing to the right of
H is one more than the number of persons
standing to the left of F. G stands to the
right of H. As many persons stand between
F and H as between G and E. K stands
second to the right of L. | and K are not
immediate neighbours
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How many persons stand to the right of L? a)
One b) Five c) Four d) Two e) Three

Which of the following statement(s) is/are true?
I) Only one person stands between L and K

Il) F stands immediate left of J

lll) | stands end of the row

IV) E stands to the left of F

a) Only (I1) and (1) b) Only (1) and (IV) c) Only ()
and (I1) d) Only (ll) and (IV) e) Only (1), (Il) and
(1)
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If all the persons are arranged in alphabetical
order from the left end, then how many persons
remain unchanged in their position? a) One b)
Two c) Three d) More than three e) No one

Four of the five among the following are similar
in such a way to form a group, which one of the
following doesn’t belong to that group? a) IJ b)
FEc) LK d) IG e) HG

If J and L are interchanged in their positions then
K and | did the same, with respect to the new
positions, who among the following person
stands third to the right of E? a) The one who
stands immediate left of Fb) Fc) Gd) | e) The
one who stands second to the right of G
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Ten persons sit in two parallel rows i.e. row 1
and row 2 with five persons sitting on each row.
Five persons face north and rest face south.
Each person sitting in row 1 sits exactly
opposite to each personinrow 2. Row 1 is in
south direction of row 2. Z sits third to the right
of Q. Z sits opposite to the person who sits
immediate right of O. O faces north. D sits
opposite to the one who sits third to the left of
M. Z face the opposite direction to Q. Only
three persons sit between Q and P who sits in
row 1. L is an immediate neighbour of both O
and D. S sits second to the right of the person
who sits opposite to D. R sits immediate right of
N. R faces the same direction as O. S and L face
the same direction as Q.
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Ten persons sit in two parallel rows i.e. row 1 and
row 2 with five persons sitting on each row. Five
persons face north and rest face south. Each
person sitting in row 1 sits exactly opposite to
each person in row 2. Row 1 is in south direction
of row 2. Z sits third to the right of Q. Z sits
opposite to the person who sits immediate right
of O. O faces north. D sits opposite to the one
who sits third to the left of M. Z face the opposite
direction to Q. Only three persons sit between Q
and P who sits in row 1. L is an immediate
neighbour of both O and D. S sits second to the
right of the person who sits opposite to D. R sits
immediate right of N. R faces the same direction
as O. S and L face the same direction as Q.
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How many persons sit between L and R?
A. Two B. Three C. One D. None E. None
of these

If R is related to Q, N is related to M then
i nthe same manner Lisrelatedto _ ?
A.ZB.PC. OD.DE. None of these

Who sits immediate right of the one who
sits oppositeto S? A.LB.RC.D D. NE.
None of these
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Which of the following statements i s not true?
A. S face the same direction as R B. R sits at the
end of the row C. D sits opposite to P D. O sits
immediate right of L E. All are true

) Which of the following is true regarding M? A.
M sits at the end of row B. M sits opposite to R C.
M sits immediate left of S D. Both a) and c) E.
None is true
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